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1.  Pithis well developed in :
(a) Monocot and dicot root (b) Monocot and dicot stem
(c) Dicot root and dicot stem (d) Dicot root and monocot stem
2.  Glume found in the spikelet of the family Poaceae is a
(a) Bract (b) Sepal (c) Petal (d) Stamen
3.  Apical dominance means :
(a) Suppression of growth of apical buds by axillary buds.
(b) Suppression of growth of axillary buds by the presence of apical bud.
(c) Stimulation of growth of apical bud by removal of axillary buds.
(d) Inhibition of growth of axillary buds by removal of apical buds.
4.  Fill in the blanks with proper plants from the list provided :
List : Pea, Tomato, Wheat, Lily, Sedge, Custard apple, Rose
A.  Leaves reticulate veined :
B. Fruitis apod (1)
BB. Fruit is a berry (11)
AA. Leaves paralled veined :
C. Fruit is caryopsis (111)
CC. Fruit is a capsule (iv)
(a) (1) — Pea; (i1)) — Tomato; (iii) — Wheat; (iv) — Lily;
(b) (i) — Lily; (ii) — Tomato; (iii) — Custard apple; (iv) — Rose;
(c) (1) — Wheat; (i1) — Custard apple; (iii) — Tomato; (iv) — Rose;
(d) (i) — Rose; (i1) — Tomato; (iii) — Wheat; (iv) — Sedge
5.  Which type of fruit is coconut ?
(a) Berry (b) Drupe (c) Pome (d) Nut
6. In a single seeded fruit, single seed develops due to presence of :
(a) One carpel (b) One placenta in ovary
(¢) Unilocular ovary (d) Single ovule in ovary
7.  Spirulina is a source of :
(a) An edible fungus (b) A biofertilizer
(c) A biopesticide (d) A single cell protein
8.  Girth of stem of a plant increases due to division of cells in :
(a) Apical meristem only (b) Lateral meristem only
(c) Apical and intercalary meristem (d) Both apical and lateral meristem
9. Callusis
(a) material used for healing of phloem
(b) secondary tissue developed by woody plants
(c) an undifferentiated mass of cells
(d) wvascular bundles
10. Collenchyma mainly forms :
(a) Hypodermis (b) Epidermis (c) Phloem (d) Inner Cortex
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Papillionaceous corolla is found in :
(a) Mustard (b) Lily (c) Pea (d) China rose

A compound leaf which appears as simple leaf due to suppression of one or two leaflets is
found in :

(a) Hardwickia (b) Parkinsonia (c) Coriandrum (d) Citrus
Physical basis of life is :

(a) Protoplasm (b) Cell (c) Nucleus (d) Food
Who is regarded as the Father of Botany ?

(a) Theophrastus (b) Linnaeus (c) Bentham (d) Hutchinson
The important constituent of cork cell wall is :

(a) Lignin (b) Suberin (c) Cutin (d) Pectin
The site of meiotic division in higher plants is :

(a) Spore mother cell (b) Root tip cells

(c) Stomatal cells (d) Vegetative cells

Different forms of the same gene are called :

(a) Genotypes (b) Sib pairs (c) Alleles (d) Isomers
Each chromosome contains a single chromatid at which stage ?

(a) Anaphase (b) Metaphase (c) Telophase (d) Prophase
Chemical absent from matrix of cell wall is :

(a) Lipid (b) Water (c) Glycoprotein (d) Cellulose
Largest organelle of the cell is :

(a) Nucleus (b) Chloroplast (c) Mitochondria (d) Vacuole
DNA is present in :

(a) Lysosome (b) Mitochondria (c) Ribosome (d) Carboxysome
Structural element of chromatin is :

(a) Histone (b) Acid protein and DNA

(¢) Nucleosome (d) Nuclear matrix

Chiasma formation occurs during the stage :

(a) Leptotene (b) Diplotene (c) Pachytene (d) Zygotene
Which one is called the ‘Suicidal Bag’ ?

(a) Centrosome  (b) Lysosome (c) Mesosome (d) Chromosome
Who proposed the ‘cell theory’ ?

(a) Watson and Crick (b) Schleiden and Schwann

(c) Darwin and Wallace (d) Mendel and Morgan

Centrosome is found in :

(a) Cytoplasm (b) Nucleus (c) Chromosomes (d) Nucleolus

Which layer of anther wall is mainly responsible for the dehiscence of mature anther ?
(a) Tapetum (b) Epidermis (c¢) Endothecium (d) Middle layers
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28. Network of Endoplasmic reticulum is present in
(a) Nucleus (b) Nucleolus (c) Cytoplasm (d) Chromosomes

29. A typical vacuole possesses :
(a) Nucleoplasm (b) Cytoplasm (¢) Hydroplasm (d) Both (b) & (¢)

30. Which of the following is a termination codon ?
(a) AUG (b) UAA (c) CCC (d) ACC

31. Polyribosomes are aggregations of :
(a) Ribosomes and r-RNA
(b) Only r-RNA
(c) Peroxisomes
(d) Several ribosomes held together by a string of m-RNA

32. In heterotypic division of meiosis, prophase I is divided into various stages. Give the correct
sequence of them :
(a) Leptonema, Zygonema, Pachynema, Diplonema and Dikinesis
(b) Leptonema, Diplonema, Pachynema, Zygonema and Dikinesis
(c) Zygonema, Dikinesis, Pachynema, Leptonema and Diplonema
(d) Dikinesis, Leptonema, Zygonema, Pachynema and Diplonema

33. Which of the following would represent allotetraploid ?
(a) AAAABB (b) AABB (c) AAAA (d) AABBBB

34. The ribosomes of mitochondria are :
(a) 100S (b) 70S (c) 80S (d) 50S

35. In a cell division, if nuclear envelope does not break and intranuclear division occurs by
chromosomes moving apart being attached to the inner nuclear membrane, without spindle
fibres, the process is called :

(a) Free nuclear division (b) Amitosis
(c) Karyochorisis (d) Dinomitosis

36. All are true for meiosis except :
(a) Prophase long (b) Crossing over in Pachynema
(c¢) Anaphase chromosomes are monads. (d) Chromosome number reduced to half.

37. Organisms lacking nucleus and membrane bound organelles are :

(a) Diploids (b) Prokaryotes (c) Haploids (d) Eukaryotes
38. One way flow of genetic information is called :

(a) Aristotle dogma(b) Central dogma (c) Teminism (d) Modular dogma
39. The formation of RNA from DNA is known as

(a) Translation (b) Transcription (¢) Transformation (d) Translocation

40. Within a cell the site of oxidation is :
(a) Ribosomes (b) Golgi body
(c¢) Mitochondria (d) Endoplasmic reticulum
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41. A cell can form many phenotypes. This property is called :

(a) Pleuripotency (b) Totipotency (c) Parasexuality (d) Parthenogenesis
42. A vacuole without a regular covering membrane is
(a) Contractile vacuole (b) Food vacuole
(c) Sap vacuole (d) Gas vacuole
43. Low levels of RuDP carboxylase, but high levels of PEP carboxylase are found in :
(a) C;plants (b) C, plants
(c) CAM plants (d) C4and CAM plants
44. Lysosomes were discovered by :
(a) Christian de Duve (b) Devlin
(c) Witham (d) Golgi
45. The distance between two successive nitrogen bases in a polynucleotide of DNA is
(a) 34A (b) 10.4 A (c) 6.4A (d) 3.4A
46. The site of protein synthesis is :
(a) Chromosomes (b) Ribosomes (c) DNA (d) Plastid
47. The number of ATP molecules synthesized depends upon which of the following ?
(a) Nature of electron donor (b) Nature of electron acceptor
(c) Nature of proton donor (d) Nature of proton acceptor

48. Which of the following plant hormones induces seed germination ?

(a) Auxins (b) Cytokinins (c) Gibbérellins (d) Ethylene
49. Which of the following is the most important site for vernalization stimulus ?

(a) Growing stem apex (b) Dormant stem apex

(c) Endosperm (d) Growing stem apex and endosperm
50. Which is the naturally occurring plant auxins ?

(a) TAA (b) NAA (c) 2,4-D (d) Gibberellin
51. Richmond — Lang effect is related to :

(a) Cytokinins (b) ABA (c) GA; (d) NAA
52. Shoot of plant show upward movement and it can be designated to be :

(a) Negatively phototropic (b) Positively chemotropic

(c) Positively hydrotropic (d) Negatively geotropic
53. Potential hormone responsible for causing fruits to ripe rapidly is :

(a) Ethylene (b) Gibberellins (c) TAA (d) Auxins
54. Cortical vascular bundles are characteristic feature of :

(a) Ficus (b) Nyctanthes (c) Boerhaavia (d) Amaranthus

55. Water secreting glands in plants are :
(a) Nectaries (b) Digestive glands (c¢) Hydathodes (d) Epithelium cells

56. Besides proteins, ribosomes contain :

(a) DNA (b) RNA (¢) Both DNA & RNA(d) Lipids

Series-A 8 SVA



41.

42.

43.

44.

45.

46.

47.

48.

49.

50.

S1.

52.

53.

54.

55S.

56.

SVA

Teh ShIT3TehT g GO ST Eehel & | 581 T[0T Sh1 gl SITaT 8

(a) SEIERAT (b) TErSTERIAT (c) TTARTERAT (d) AR
Frafira steror fareett e fifdaent 2t @
(a) THaiet gt (b) Wi gt ORGEIE (d) 7= o

IR .. HIEifererst i T W, Tifch 4.3, SHIaifererst sl 3TTeeh T T AT 8
(a) C;UTeul o (b) Cg4UTcal T (c) CAM duredi § (d) C,Td CAM Uredi &

ATZEE < @I 6 off

(a) TRfvemEiga (b) Safem (c) faum (d) TTTestt
2T, & TAY[FASTerEs H QI Shiteh ATsgior odi o AL I gl @ :

(a) 34 A (b) 10.4 A (c) 6.4A ) 34A
e HTTTUT T €A &

(a) O (b) TEEE™ (c) DNA (d) oah
Tyifya €& ). srupatt i wwen frfofe § @ o w R i 2 7

(a) ORI Tl ol Tepfct (b) FeTeRZI TTEN 2hl Tepli

(c) e gTaT i SR (d) ST TTET i Tehfd

frfefaa o @ s |1 91eY T siSl 3HL01 I UG HLa1 g ?

(a) AfeaE (b) TTSIHISHH (c) Frssifera (d) AR
SAIUER 6T IS TET Ha el TIE TIA F1 8 7

(a) e g1 & 9fid (b) TGt Ty ¥

(c) yomI (d) Sgar g3 ey 3y Tg yoray
Tehfdieh FY & U S ST UTed Sifadd i a1 g ?

(a) TAA (b) NAA (c) 2,4-D (d) Forsstfem
s - yvme wefa 2

(a) TEAHEEAH (b)) ABAT (c) GA; 8 (d) NAA®
ITeHt % TR 358 TG TERid i §, 38 fefiied § & Read Aifia fomn s ekt & 7
(a) SRUTTCHe JehTeITad (b) GATcHS RS

(c) ©TcHeh STATeId (d) SR TeeaTdeard

el I dSit | Tehel o foTe Jurelt g 8

(a) SUTTAH (b) foresifera (c) IAA (d) 3ATferam
Foshe TeTed el shi Suteufer femeent tfireremor g 2

(a) HT5HH (b) Fra-em (c) Sieatreram (d) THR=r
aTedt o ST el a8

(a) el ORIEERIEE (c) TIESUZH (d) wdhefiforem sifrepTd
I o JfaiEd TgaE™ | 8T 8

(a) DNA (b) RNA

(c) DNA T RNA gHi d) fafre

9 ' Series-A



57.

58.

59.

60.

61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

71.

All of the following plants belong to cereals or millets except :
(a) Triticum aestivum (b) Cicer arietinum
(c) Pennisetum typhoides (d) Eleusine coracana

In most monocots, the endosperm development is :
(a) Nucleartype (b) Cellular type (c) Helobial type (d) Ruminate type

Figs like Bedu and Banyan are pollinated by :

(a) Wasp (b) Ants (c) Butterflies (d) Wind

The coleoptile in grass seeding is :

(a) Plumule (b) Radicle

(c) Cotyledon (d) Sheath around emerging leaf

Loss of water in the form of vapour through stomata, cuticle and lenticel is called :

(a) Morphology (b) Transpiration (c) Osmosis (d) Plasmolysis

‘Mass Flow Hypothesis’ to explain mechanism of translocation of organic solutes was given
by :

(a) Kurosawa (1905) (b) Munch (1930)

(c) Swanson (1892) (d) Buchman (1890)

‘Lock and Key’ model to explain the mechanism of enzyme action was given by :

(a) Koshland (1966) (b) Sumner (1920)

(¢) Kuhne (1878) (d) Emil Fisher (1894)

Guard cells are present in :

(a) Cork (b) Stomata (c) Cortex (d) Vascular bundles
Branch of plant science in which various life processes and metabolic activity of plants are

studied, is known as :
(a) Plant Physiology (b) Plant Taxonomy
(c) Plant Morphology (d) Plant Anatomy

Enzyme responsible for alcoholic fermentation is :
(a) Ketolase (b) Zymase (c) Peroxidase (d) Oxidase

Non-biological nitrogen fixation is :
(a) Electrochemical & photochemical (b) Electrochemical
(c) Photochemical (d) Electro-magnetic

In two adjacent cells, the (A — B) cell A has O.P. =7 and T.P. =3, while cell B has O.P. =8
and T.P. = 6, the water will move :

(@) FromBto A (b) From A to B (c) Both ways (d) Neither Way
The pigment which will have higher absorbance in red region is :

(a) Carotene (b) Chlorophyll-b

(c) Chlorophyll-a (d) Chlorophyll-a & b both

When raisins are put in water, they swell up, this process is called

(a) Osmosis (b) Endosmosis (c) Diffusion (d) Exosmosis
Longest seed viability is reported in :

(a) Nelumbo nucifera (b) Lactuca sativa

(¢) Xanthium strumarium (d) Brassica campestris
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72. The chlorophyll molecules which function for the absorption of light are called :

(a) PS-I Chlorophylls (b) Superficial Chlorophylls
(c) Inactive Chlorophylls (d) Antenna Chlorophylls
73. Root nodules of legume plants contain leghaemoglobin. It’s function is to regulate :
(a) Nodule growth (b) Oxygen supply
(c) Dinitrogenase activity (d) Expansion of nif genes

74. Magnesium present in chlorophyll molecule is in :
(a) Non-ionic form (b) Ionic form (c) Soluble form (d) Gaseous form

75. Total number ATP molecules formed during complete oxidation of one molecule of glucose
is

(a) 28 (b) 02 (c) 38 (d) 08
76. When oxalic acid oxidises completely, the RQ value would be :
(a) 2.0 (b) 0.7 (¢) Unity (d) 4.0
77. Phototropism is caused by unequal distribution of :
(a) Florigens (b) Gibberellins (c) Auxins (d) Cytokinins
78. Law of limiting factors for biochemical reactions was given by :
(a) Warburg (b) Blackman (c) Leibig (d) Hill
79. The escape of water in liquid form from leaves is called :
(a) Evaporation (b) Guttation
(c) Transpiration (d) Stomatal transpiration

80. During photosynthesis, fixation of CO, into carbohydrates takes place in which of the
following reactions ?

(a) Dark reaction (b) Light reaction

(c) Photophosphorylation (d) Krebs cycle
81. Which of the following photosynthetic cycle takes place in wheat ?

(a) CAM-cycle (b) C,-cycle (¢) C5-cycle (d) C;and Cy4cycle
82. Gibberellins were first discovered from :

(a) Algae (b) Fungi (c) Bacteria (d) Gymnosperms
83. Which of the following is not found in a nitrogenous base ?

(a) Carbon (b) Hydrogen (c) Nitrogen (d) Phosphorus
84. Transpiration is a

(a) Physiological process (b) Physical process

(c) Mechanical process (d) Chemical process

85. Swelling of doors, windows and other wooden objects during rains is due to :
(a) Diffusion (b) Osmosis (c) Imbibition (d) Endosmosis

86. The pigment that plays a key role in photomorphogenesis is :
(a) Anthocyanin (b) Phytochrome (c) Chlorophyll (d) Cytochrome

87. In C, pathway the first stable compound is :
(a) RuDP (b) PGA (c) OAA (d) PGAL
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88. Leaf abscission is :
(a) associated with an increase in ethylene production by petiole cells.
(b) apassive process involving nothing more than death of petiole cells.
(c) regulated by the hormone ABA.
(d) followed by leaf senescence.

89. Under which of the following conditions transpiration would be most rapid ?
(a) High humidity (b) Excess of water in the soil
(¢) Low humidity and high temperature ~ (d) Low wind velocity

90. At what temperature and atmospheric pressure, an autoclave is operated for sterilization ?

(a) 121°C,15p.s.i (b) 115°C, 20 p.s.i.

(c) 110°C, 10 p.s.i. (d) 130°C, 15 p.s.i.
91. The process of conversion of ammonia to nitrite is called :

(a) Ammonification (b) Denitrification

(c) Nitrogen fixation (d) Nitrification

92. Photo-oxidation of chlorophyll is prevented by :

(a) Carotenoids (b) Anthocyanin (c) Phycobilin (d) Fucoxanthin
93. Chlorophyll is found in which part of the chloroplast ?

(a) Stroma (b) Grana

(c) Cisternae (d) Stroma and cisternae

94. How many ATP molecules are required for conversion of one molecule of N, to 2 molecules
of NH, during biological nitrogen fixation ?
(a) 8ATP (b) 10 ATP (c) 12 ATP (d) 16 ATP

95. Which one of the following statement is correct for photosynthesis process ?
(a) Chemical energy is converted into light energy.
(b) CO, is oxidised to form carbohydrates.

(c) Water molecule splits into hydrogen and oxygen.
(d) Light energy is directly used to split water.

96. ‘Kranz anatomy’ is found in which of the following ?
(a) Cy4plants (b) CAM plants (c) C; Plants (d) C;and C4 plants

97. What is the use of ETS ?
(a) To store energy (b) To release and utilise energy
(c) To transfer energy to the surroundings (d) To take energy from the surroundings

98. For synthesis of one molecule of hexose sugar, how many times Calvin cycle is turned ?
(a) 12 (b) 1 (c) 6 (d) 3

99. Essential elements are :
(a) Directly not involved in metabolism
(b) Not replaceable by other elements
(c) Not required for normal reproduction
(d) Required only in those processes leading to increased growth
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100. EMP pathway is :

(a) Calvincycle (b) Glycolysis (c) TCA cycle (d) Nitrogen fixation
101. The primary acceptor of CO, in Calvin cycle is :

(a) Ribulose -1, 5 — bisphosphate (b) Phosphoenol pyruvate

(c) Oxaloacetic acid (d) Sucrose

102. Respiration in cells takes place in :
(a) Nucleus (b) Ribosome (c) Golgi body (d) Mitochondria

103. The relationships of respiration and photosynthesis are :
(a) No relationship (b) Reciprocal (c) Reverse (d) Same

104. RQ is less than one when :
(a) respiration is aerobic but the respiratory substrate is either fat or protein.
(b) respiration is anaerobic but the respiratory substrate is only fat.

(c) glycolysis is anaerobic and the substrate is not glucose.
(d) None of the above

105. In respiration, most of ATP is synthesised during :

(a) Glycolysis (b) Electron transport

(c) Krebs cycle (d) Oxidation of pyruvate
106. In photosynthesis, the 1% step is :

(a) Conversion of PG to PGA (b) Carboxylation of RuBP

(c) Electron release by chlorophyll a (d) Photolysis of water

107. The major function of respiration is to produce :
(a) ATP (b) Pyruvate (c) C,Hs;OH (d) NADH(H")

108. The term “Ecosystem’ was proposed by :
(a) Odum (b) Smith (c) Hutchinson (d) Tansley

109. The study of interactions between living organisms and environment is called as :
(a) Ecosystem (b) Ecology (c) Phytogeography (d) Phytosociology

110. An ecosystem consists of :
(a) Plants and animals
(b) Producers and consumers
(c) Producers, consumers and decomposers
(d) Producers, consumers, decomposers and non-living environment

111. The planktonic forms of plants are :
(a) Autotrophs (b) Heterotrophs
(¢) Chemotrophs (d) Heterotrophs and Chemotrophs

112. Photo-oxidation of chlorophyll is prevented by :
(a) Carotenoids  (b) Anthocyanin (c) Phycobilin (d) Fucoxanthin
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113. The concept of “Trophic dynamics of ecosystem” was given by :

(a) Vincent (b) Wallace (c) Salisbury (d) Lindeman
114. The total energy in an ecosystem is constant and is governed with :

(a) First law of thermodynamics (b) Second law of thermodynamics

(¢) Third law of thermodynamics (d) None of the above

115. Which ecological pyramid is always upright ?

(a) Pyramid of biomass (b) Pyramid of numbers
(c) Pyramid of energy (d) Pyramid of Elstonian
116. “Ecology is the science of the community” was given by :
(a) Charles Elton (b) Frederick Clements
(c) Karl Friedrich (d) Robert Johnson
117. Green plants constitute :
(a) First trophic level (b) Second trophic level
(c) Third trophic level (d) Fourth trophic level
118. Carnivores in an ecosystem are :
(a) Primary consumers (b) Secondary consumers
(c) Tertiary consumers (d) Both (b) and (c)
119. There is no atmospheric phase in :
(a) Phosphorus cycle (b) Carbon cycle
(c) Water cycle (d) Sulphur cycle
120. Plants growing on rocks are called
(a) Oxylophytes (b) Halophytes (c) Lithophytes (d) Epiphytes
121. Phosphorus occurs as :
(a) Orthophosphate (b) Particulate organic phosphorus
(c) Soluble organic phosphorus (d) All of the above

122. Nutrient losses due to leaching occurs when :
(a) exceed inputs from the atmosphere.  (b) exceed inputs from the hydrosphere.
(c) exceed inputs from the lithosphere. (d) Both (a) and (b)

123. The major pathways of nutrient recycling in forest are :

(a) throughfall and stem flow (b) throughfall flux
(c) precipitation (d) Both (a) and (b)
124. Plants growing in saline soils are called :
(a) Oxylophytes (b) Psammophytes (c) Halophytes (d) Lithophytes
125. The amount of energy during transfer from one trophic level to another in an ecosystem :
(a) Increases (b) Decreases

(c) Remains constant (d) May increase or decrease
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126. The term “Ecology” was introduced by :
(a) Odum (b) Haeckel (c) Tansley (d) Ramdeo Misra

127. Internal nutrient budget in an ecosystem is concerned with the :
(a) circulation of nutrients through the biotic components.
(b) circulation of nutrients through the abiotic components.
(c) intake and output of the entire ecosystem.
(d) Both (a) and (b)

128. Earth’s three major climatic zones are :
(a) Tropical, temperate and polar (b) Polar, tropical and rain forest
(c¢) Tundra, temperate and tropical (d) Polar, savanna and rain forest

129. One of the “hot spots” of Indian biodiversity is :
(a) Western ghats (b) Indo gangetic plain
(c) Thar deserts (d) Malabar

130. The main cause of biodiversity loss is :
(a) Invasion (b) Co-extinctions (c) Habitat loss (d) Climate change

131. Biodiversity “hot spots™ are the regions with :
(a) High level of species richness (b) High degree of endemism
(c) High number of invasive species (d) Both (a) and (b)

132. A plant community consists of more than one :
(a) Population (b) Ecosystems (c) Biomass (d) Biospheres

133. Biodiversity is maximum in the following latitudes :

(a) 0°-25° (b) 25°—45° (c) 45°-60° (d) 60°—90°
134. Ozone depletion in the stratosphere will cause :

(a) Forest fires (b) Global warming

(c) Increased incidence of skin cancer (d) Soil erosion

135. If all the plants of the earth die suddenly, all animals will die due to deficiency of :

(a) Food (b) Shade (c) Shelter (d) Oxygen
136. Soil conservation is a process in which

(a) Soil is aerated (b) Soil is protected against loss

(c) Soil erosion is allowed (d) Sterile soil is made fertile

137. Gas leaked in Bhopal gas tragedy (1984) was due to :
(a) Potassium isothiocynate (b) Sodium isothiocynate
(c) Ethyl isocynate (d) Methyl isocynate
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138. In the process of ecological succession, the successful establishment of a species in a bare
area is called :
(a) Competition (b) Stabilization (c) Migration (d) Ecesis

139. Which of the following is a greenhouse gas ?

(a) Nitrogen (b) Oxygen (c) Carbon dioxide (d) Chlorine
140. Which of the following is ex-situ biodiversity conservation strategy ?

(a) Biosphere reserve (b) Botanical garden

(c) Wildlife sanctuary (d) National park
141. Knock — knee syndrome is caused by the pollution of :

(a) Lead (b) Sulphur (c) Mercury (d) Fluoride
142. UV radiations in the stratosphere are absorbed by :

(a) Ozone (b) Oxygen (¢) Sulphur dioxide (d) Argon
143. Which one is matching for National park ?

(a) Kaziranga — Musk deer (b) Sunderban — Rhino

(c¢) Gir— Lion (d) Sariska — Antelope

144. Biological oxygen demand measures
(a) Industrial pollution
(b) Air pollution
(¢) Sound pollution
(d) Dissolved oxygen needed by microbes to decompose organic waste

145. A primary succession on the bare rock starts with
(a) Animals (b) Lichens (c) Trees (d) Herbs

146. Ganga and Yamuna Action Plans have been initiated by :
(a) Ministry of Environment and Forests (b) Ministry of Science and Technology
(c¢) Ministry of Health (d) Ministry of Rural Development

147. Estuaries and coastal marine ecosystems receive large allochthonous inputs of :
(a) Nutrients (b) Organic carbons (c) Sediments (d) All (a), (b) and (¢)

148. Who is father of “Plant Tissue Culture” ?
(a) Haberlandt (b) Nitsch (c) White (d) Nobecourt

149. The formation of RNA from DNA is known as :
(a) Translation (b) Transcription (¢) Transformation (d) Translocation

150. “Secondary productivity” in ecosystem is used for the productivity of :
(a) Animals (b) Forest (¢) Grazing land (d) Phytoplanktons
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(c) fm—3 (d) BT — T
144. J9 i fere AT @

(a) 3TN Sgyor

(b) AT HyUT

(c) e Sreuor
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149. €.TH.T. ¥ X .TA.T, T &1 H&l J1dT 2

(a) I (b) FTIetEH (c) Frgfeere (d) TIRT=
150. urifRfaes -1 4 fergehl IcuTeshdt o1 “fgdiaes Scareshar” wad 8 ?

@ o 0 FmE (d) eH ISh
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151.

152.

153.

154.

155.

156.

157.

158.

159.

160.

161.

162.

The capacity to generate a whole plant from any cell / explant is :

(a) Meristem culture (b) Biofortification

(c) Totipotency (d) Somatic hybridization

Name the first transgenic virus resistant plant.

(a) Tobacco (b) Rice (c) Cotton (d) Tomato
Golden rice is :

(a) Vitamin ‘B’ enriched rice

(b) Vitamin ‘A’ enriched rice

(c) Iron enriched rice

(d) Vitamin ‘A’ enriched rice and iron enriched rice

Bio-patents are granted for :

(a) Various biotechnological processes (b) Cell lines

(c) Strains of microorganisms (d) All (a), (b) and (c)

“Molecular Scissors” are :

(a) Restriction enzymes (b) Vectors

(c) Plasmids (d) DNA ligase

Varuna is a somaclonal variety of :

(a) Citronella (b) Mustard (c) Sugarcane (d) Wheat

Which of the following includes rules of conduct that may be used to regulate our activities
concerning the biological world ?

(a) Biopiracy (b) Biosafety (c) Bioethics (d) Biopatents

For obtaining virus free plants, which of the following micro-propagation method is

preferred most ?

(a) Floral bud culture (b) Apical meristem culture

(c¢) Root organ culture (d) Seed culture

The proteins encoded by the genes CrylAc and CrylIAb control :

(a) Corn borer (b) Cotton borer

(c) Cotton bollworms (d) Corn borer and cotton borer

Chipko movement was started to conserve :

(a) Forests (b) Grasslands (c) Deserts (d) Soil

“Van Mahotsava” was started by :

(a) V.B. Patel (b) K.M. Munshi (c) G.B.Pant (d) Sir D. Brandis
Unfertilized ovary culture was first reported in :

(a) Cotton (b) Sorghum (c) Barley (d) Pulses

Series-A 24 SVA



151.

152.

153.

154.

155.

156.

157.

158.

159.

160.

161.

162.

SVA
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(a) Tafira Sta-senfires ufshanati 2q (b) ¥ TS 2
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(a) TIIaY TSR (b) 9%eE (c) wATSHSH (d) DNA &3
THUT Teh HIHTRAN (hiT B
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(a) 9 Hicien! Gaeq (b) Sfivee fqu=iaes gadq

(c) AT HaeH (d) S "agH
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(a) TR U (b) HUTE ITH
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Faaen SATerer fohel s 6 foTu 31& foham T o 2
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(a) . weA (b)) H.um guh (c) Sh.&ft. ud (d) T e sfa
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(a) U™ (b) SOR (c) St (d) <
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163. Nickel ore is found in :
(a) Kerala (b) Madhya Pradesh (c) Meghalaya (d) Odisha

164. Red data book contain records of :
(a) Extinct plants and animals (b) Rare plants
(c) Extinct animals (d) Endemic plants and animals

165. A good example of renewable energy resource is :
(a) Fossil fuels (b) Nuclear energy  (c) Solar energy (d) Biomass energy

166. Which metallic mineral resource is the largest foreign exchange earner for India ?
(a) Chromite (b) Iron ore (c) Manganese ore  (d) Copper ore

167. The state tree of Uttarakhand Rhododendron arboreum is a common component of :
(a) Oak forest (b) Pine forest (c) Sal forest (d) Bugyals

168. Which of the following are examples of biotic resources ?
(a) Copper and Lead (b) Nodules of Copper and Manganese
(c) Land and Water (d) Coal and Mineral Oil

169. Which of the following is not part of ex-situ conservations ?
(a) Sanctuaries (b) Gene Banks
(c) Pollen and Spore Banks (d) Micro propagation

170. Bauxite deposits are found in :
(a) Madhya Pradesh (b) Andhra Pradesh
(c) Uttar Pradesh (d) Manipur

171. Predominant component of biogas is :
(a) Ammonia (b) Methane (c) Rayon (d) Nitrogen

172. Minamata disease resulted from a factory producing Vinyl Chloride and Acetaldehyde. The
discharge of factory contained :

(a) Cadmium (b) Lead (c) Tributyltin oxide (d) Methyl mercury

173. Which of following sites was not primarily included in Ramsar Convention ?
(a) Keoladeo National Park (b) Dal Lake
(c) Chilika Lake (d) Sambhar Lake
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174.

175.

176.

177.

178.

179.

180.

181.

182.

183.

184.

185.

186.

The covering outside an ovule in gymnosperms is called as

(a) Integument (b) Airsac (c) Embryo sac (d) Carpel

In Oswald Tippos’ classification, liverworts and mosses are placed under the phylum :

(a) Atracheata (b) Tracheata (c) Thallophyta (d) Schizomycophyta
First land inhabiting plants are :

(a) Pteridophytes (b) Bryophytes (c) Gymnosperms (d) Angiosperms
Which of the following is not true of organisms in the kingdom Monera ?

(a) They reproduce by mitosis.

(b) They have prokaryotic cellular organization.
(c) They originated at least 3.5 billion years ago.
(d) Most have cell walls.

The micro-organisms which can only be seen with an electron microscope are :

(a) Blue — Green Algae (b) Bacteria

(c) Viruses (d) Mosses

Isolation of Actinomycin and Streptomycin was done by :

(a) A.Flemming (1929) (b) Waksman (1942)

(c) Koch (1928) (d) Milstein (1975)

Which of the followings may act as biofertilizers ?

(a) Nostoc (b) Spirogyra (c) Anabena (d) (a) & (c) both
Blue-green algae can be used as bio-fertilizers because :

(a) They are photosynthetic. (b) They can grow everywhere.

(¢) They have mucilage. (d) They fix nitrogen.

Intestinal bacteria are the main source of which one of the following vitamins ?

(a) Vitamin E (b) Vitamin C (c) Vitamin B, (d) Vitamin A
Match the following :

1. Escherichia coli (1) Bt. toxin

2. Rhizobium meliloti (i) Interferon

3. Pseudomonas putida  (iii) Nif genes

4. Bacillus thuringiensis (iv) Bioremediation

(a) 1—(ii); 2 - (ii1); 3 — (iv); 4 - (1) (b) 1—(1);2—(ii); 3 —(iii); 4 - (iv)
(c) 1—(iii); 2 - (1); 3 - (iv); 4 — (ii) (d) 1—(@v); 2—(i); 3 —(iid); 4 — (ii)

Conducting tissue in moss is made up of :

(a) Xylem and Phloem (b) Xylem

(c) Collenchyma (d) Parenchyma

Prothallus of Dryopteris fern has rhizoids on :

(a) Lower surface (b) Upper surface (c) Middle part (d) All over
Five kingdom classification of organisms was proposed by :

(a) Carolus Linnaeus (b) R.H. Whittaker

(¢) Charles Darwin (d) E. Haeckel
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187. In epiphytic orchids, the spongy absorptive roots have a white tissue called :
(a) Phellem (b) Phellogen (c) Phelloderm (d) Valamen

188. Which of the following is incorrect about haplontic life cycle ?
(a) Gametophytes are the dominant phase in the life cycle.
(b) Sporophytes are free living.
(c) Spores are haploid in nature and form gametophyte by mitotic division.
(d) Zygote acts as sporophytes.

189. The mode of arrangement of leaves on the stem is known as :

(a) Venation (b) Ptyxis (c) Phyllotaxy (d) Aestivation
190. Hard pointed structures which are deep seated with vascular connections are called :

(a) Prickles (b) Spines (c) Thorns (d) Cladodes
191. Increase in fauna and decrease in flora would be harmful due to increase in :

(@) H, (b) CO,

(c) O, (d) Radioactive pollution

192. Stage of leaf in a bud, i.e., the way it is folded or rolled on itself is called :
(a) Ptyxis (b) Venation (c) Aestivation (d) Phyllotaxy

193. Numerous vascular bundles are arranged in a scattered manner in :
(a) Monocot root (b) Monocot seed (c) Monocot leaf (d) Monocot stem

194. Which kind of stem is found in grasses ?
(a) Culm (b) Creeper (c) Climber (d) Liana

195. Tunica — Corpus theory for shoot apex was proposed by :
(a) Hanstein (1870)(b) Schmidt (1924) (c¢) Nageli (1858) (d) Foster (1939)

196. Acuminate type of apex of the lamina of leaf is found in :
(a) Peepal (b) Banyan (c) Pineapple (d) Date palm

197. Which of the following is the group of simple tissues ?
(a) Parenchyma, Xylem and Collenchyma
(b) Parenchyma, Collenchyma and Sclerenchyma
(c) Parenchyma, Xylem and Sclerenchyma
(d) Parenchyma, Xylem and Phloem

198. The lateral branches in a root arise out of :

(a) Epidermis (b) Cortex (c) Pericycle (d) Phloem
199. In angiosperms the leaf gap is found in :

(a) Internode (b) Node (c) Shoot apex (d) Petiole
200. Bioremediation technology using micro-organisms was invented by :

(a) George M. Robinson (b) A.M. Chakravarty

(¢) Louis Pasteur (d) A.Flemming
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